

# Thank you for downloading OET Medicine Case Notes by Benchmark

# **OET Writing Correction Packages**

**Regular (8 letters)** - Correction time for each letter is 3 days **Urgent (4 letters)**\* - Correction time for each letter is 1 day \*Urgent package also includes **1 Bonus OET Test** 

(with sample answers but no additional writing correction or speaking evaluation.

# Looking for discounts? Try <u>Bulk Correction</u> Packages!

#### Benchmark Referral Case Notes – Lauren Goldsmith Benchmark OET Writing Correction Service

WRITING SUB-TEST: MEDICINE TIME ALLOWED: READING TIME: 5 MINUTES WRITING TIME: 40 MINUTES

#### Read the case notes and complete the writing task which follows.

#### Notes:

You are a pediatrician working in the in-patient unit. Lauren Goldsmith is an infant female who was admitted for high fevers.

#### PATIENT DETAILS

Name: Lauren Goldsmith DOB: 18/11/2021 (4 months old) Address: 4477 Carmen Rd, Kentville

#### **Medical History:**

- Born at 37 weeks gestation.
- Normal delivery
- · No antenatal or postnatal complications
- Birth Weight 2.9kg

#### **Social Background:**

- · Parents work & live with patient
- Father (diabetes type 1 since age 4)
- Mother (hypothyroidism since age 20)
- Two elder siblings 5 yo & 2 yo boys
- · 1st brother has asthma
- 2nd brother has eczema

Presenting Complaint: Fevers over multiple days

# Treatment Summary: 10/03/2022

- Presented with mother to emergency with fevers for past 2 days
- · Ibuprofen breaks temporarily but comes back
- Temp at 104.7C
- · Labs showed elevated WBC
- · Pt. fussy, will not eat
- · Admitted to in-patient pediatric floor



# OET Writing Correction Service Getting Grade B made easy!

Benchmark's OET Writing Correction Service is run by a team of ESL teachers with medical background and extensive OET training experience, especially in the writing sub-test.

<b>Popular Packages</b>	Urgent Quick Return <b>\$40</b>	Regular Super Value <b>\$40</b>
You can send	4 letters	8 letters
Time to get the letter back (we're open 365 days a year)	1 day	3 days
Proofreading	<b>~</b>	<ul> <li>Image: A start of the start of</li></ul>
Grammatical mistakes	<ul> <li>Image: A start of the start of</li></ul>	~
Paragraph structure	~	<ul> <li>Image: A start of the start of</li></ul>
Estimated grade	<ul> <li></li> </ul>	✓
Recommendations	~	~
Send letter in MS Word or text files	~	~
Send scanned/image file*	~	×
Ask for clarification regarding corrected letters	~	~
Speaking Mock Test (\$5 Discount)**	~	×
Full OET Test***	<ul> <li>Image: A start of the start of</li></ul>	×
	Buy Now	Buy Now

\*Handwritten/Scanned letters may take additional 24 hours to return.

\*Letters submitted on Saturday and Sunday may take a few additional hours to return.

\*\*More about Speaking Mock Test service here

\*\*\*Full OET Test includes Listening (Part A, B & C), Reading (Part A, B & C), Writing Case Notes and Speaking Role Play materials.



#### 12/03/2022

- · Pt started on Zosyn for suspected infection
- · Started on ibuprofen
- Mother remains at bedside

#### 13/03/2022

- · Pt continues to have high fevers
- WBC remains elevated (35,000/mm3)
- Lumbar puncture performed, negative
- · Blood and urine cultures obtained

#### 14/03/2022

- Urine culture E. coli infection +
- Pt started Bactrim, Zosyn discontinued

#### 18/03/2022

- Pt's fevers have stopped
- WBC normal range
- Pt content, acting normal
- · Bactrim, ibuprofen discontinued
- · Mother mentions pt had previous UTI at 2 months
- · Concerned for kidney congenital defect, ordered abdo US

#### 19/03/2022

- · Abdo US showed defect causing vesicoureteric reflux
- Referral to surgery to prevent future UTIs and renal failure

## Writing Task

Using the information in the case notes, write a letter to Lauren Goldsmith's primary pediatrician. In your letter, briefly outline her history and your concerns. Address your letter to Dr. George Lopez, Pediatrics, City Medical Center, Chebucto Rd, Kentville.

- DO NOT use note form in the letter.
- Expand the case notes where relevant into full sentences.
- Use formal letter format.

The main part of the letter should be approximately 180-200 words long.



# Looking for Discounts? Try Bulk Packages

# **OET Writing Correction - Bulk Rates**

	Туре	Number of Tasks	Full price per package (USD)	Discount	Bulk price per pack (USD)	Bulk price per package (USD)	You save (USD)	Click here to order
Regular	20	5	100	10%	4.5	90	10	Buy Now
Regular	30	5	150	20%	4	120	30	Buy Now
Regular	50	5	250	25%	3.75	187.5	62.5	Buy Now
Urgent	20	10	200	10%	9	180	20	Buy Now
Urgent	30	10	300	20%	8	240	60	<u>Buy Now</u>
Urgent	50	10	500	25%	7.5	375	125	Buy Now

## Click **Buy Now** in the table to purchase a package.

- 1. The package will remain valid for 1 year from the date of purchase.
- 2. Regular letters will be returned within 3 days of submission.
- 3. Urgent letters will be returned within 24 hours of submission. (For scanned/handwritten letters, time will be 48 hours.)



# **OET Course**

## For Doctors, Nurses, and Pharmacists

## Comprehensive OET Preparation Affordable Detailed Explanations Full-Length OET Practice Tests Support

	Essentials 3 months <b>\$79</b>	<b>Pro</b> 4 months <b>\$99</b>	Pro Max 9 months \$219
<b>Full tests</b> - Listening/Reading with answers, Writing case notes with sample letters, and Speaking role plays with sample recordings	20 full tests	20 full tests	20 full tests
Basic tips and tricks	<ul> <li>Image: A start of the start of</li></ul>	<ul> <li>Image: A second s</li></ul>	<ul> <li>Image: A start of the start of</li></ul>
Grammar lessons on writing and speaking	✓	~	<ul> <li>Image: A start of the start of</li></ul>
Email support	✓	✓	<ul> <li>✓</li> </ul>
Urgent letter corrections	×	4 letters	20 letters
Speaking mock test(s)	×	1	<b>2</b> (with recording)
25 Advanced lessons (videos)	×	<ul> <li>Image: A set of the set of the</li></ul>	<ul> <li>Image: A start of the start of</li></ul>
Ebooks (Listening, Reading, Writing, and Speaking)	×	~	<ul> <li></li> </ul>
10 Reading vocabulary tests	×	<ul> <li>Image: A start of the start of</li></ul>	<ul> <li>Image: A start of the start of</li></ul>
6 Writing knowledge tests	×	<ul> <li>Image: A start of the start of</li></ul>	<ul> <li>Image: A start of the start of</li></ul>
10 Grade-A role play recordings	×	<ul> <li>Image: A start of the start of</li></ul>	<ul> <li>Image: A start of the start of</li></ul>
10 Listening gap-fill practice tests	×	~	<ul> <li></li> </ul>
	Sign Up	Sign Up	Sign Up

For more information, visit our **OET Course webpage**.

Improve your score with Benchmark OET! Paper and Computer-Based OET Compliant

> Benchmark Education Solutions

edubenchmark.com/course/oet